SBEOMBOHBOI0L 58Mm 356900l MmEgEocMmgds -1 / sem. 1»93Bsdg w9dzoo2/93. 1

039M530E0 8900MmEYd0
30eagsbols Jsgsgmomo:
03M390 JogLYIO MOB0EGEIBY FdMY6530 3esbgEOL 3MMmMEObsEgdo MmOl T dmdgb@do.
22 y?
9eogxLOL AobEMmEgds: 2 + =i 1,
B0 0oL F9BE0o: P(x,y)
B\ 2
MOd0E0b 99bEIBEHMOLOEYGEO: e=,|1- (—) :
i
99b396GHOo sbMTserool 3mmby: E
— nE =2
250003¢0d: cosE = a’ sin ' = b r =acos(lE —e)
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L3950 56MPo00o: M y =avl—eisink
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ambjgool bmegdo
53m3bLbsm 953030 (BHEbL(399bE ™M) obEmegds: f(x)=0
5dmblbols 360d3bgerm3zsbo 3 fabo: 3 rules

I. graph the function

2. make a graph of the function

3. make sure that you have made
a graph of the function

dolgdzool dgomeo

LG5 M 3603369 MdOL MYME9TS
f(a) <k
f(b) > k

e

f (X) 7693930 B850, 35806 Brm0dgddgds a<E <b G™wolmzoLsg (& )=k

f(Xmin) <O, f(Xmax) >01

f(Xmin) >0, f(Xmax) <0, 0
f(Xmin) *f(Xmax) <O : 8203986905 Xmin < Xk < Xmax - f(Xx) = 0.

50m3sbs:  303m3mo X«.
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30603900 6530%0 (0¢9M5305): 9359mfdmm f(X) MFyz9&0 396J300L Bmemols sGLgd@ds (20,00) 0bEgMm3sedo:
flag) f(by) < 0.
f(X) gbd500L 0 3ogom (X=a0-b0) LobmLEo.

LOBMLEOL MIoEgds gL IOG05 0BEJMZ5w0L LEBWZMGdOL T9GIF0MIOOM - 0FJOSFOJOO:
(a;. ])1 l D (as, [)-_)) O (ag. by) O ---

K-m60 0@9gMo3ool 3999y 3960 0b63gM35¢05 (58mbsblbols Lobwlid)g):
I = (ap.by).

59mboblibo doobErmgdom dg0dEgds 5300Mmm K 0@ gmo300L 063 Mh35¢0ol 8o oM Eowo:

J. { 3 \ll
iy = —\ap + 0.
L .-E % L L 4

o3o (M) = 0, 59mbsblbo bs3mgbos.

ozo (M) <e, bosg € BsdgdBo 58MBILLBOL BolsEgdO LODMBE IS, 58MBIbLEO Bsdm3zb0s FoboliFom
25bLOBOZOMO LoFoMM LoDMLEHOM.

Lbgs 890mbg93580 89930005 Bogs@otmmo 99dga0 0GIMSE00 ...
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(k+1) 0&g5300L5m30L 0bEIMZ5¢0ol gMRg30L Fqbo: i
L = (@ry1, brgr)
(k+1) 069635000l Lsbz®gdO:
\ (myg. b)), if flmg)flar) > 0;
(aks1,bkir) = 9 T I A R
(ag,my ). it flmg)flag) <.
d0LYgJ3000 goymaol 8999y 300R7300 0bFGJMH35L LoOE WMIs0BYdME0s BbJ300l byero:
flagsr) flbesr) < 0

. o o .
06¢gM350b LogMdob d9030M9ds N 0EJHSEo0L 999y (an, by) 2 by — ao).

BmLEGHO 59Mbsblbo: X=a
00X 9O0L MoMm@9bmds: n
603530000 5dMbsblbo: X = Mp

c - 1| w
a —my,| <2 Uy —ay).

0693500l 90 Moo d9d30Mgds: - - . - o aw

BBl 3o6LsbEaGwImo bobrbdg: & logy ((b—a)/d)




SBEOMBOHBOI0L 58Mm 356900l MmEgEocMmgds -1 / sem. 1»93Bsdg ©9d300 2/ 3.
3995 H90GH0@0ob sm3Erol dgomo:
b — ax
mp =Qp + ———
2
0385¢P00I0:
303Mm3M0 1bdi3ools bmengdo:
(2/2)* —sinax = 0, fa — fla):
while b—a >4

m=a-+(b—a)/2:

35Lbol 0EJMIGOVIE0 A5MBRMBG9dS: fm = f(m);
J OYPOTEO JYIRMOIO if fm - fa<0

n a, b, - h=m:

else
1 1.8 2 1.9 a=m: fa= fm;
2 1.9 2 1.95 end:
3 19 1.95 1.925 end:
4 1925 1.95 1.9375 f..— (0 V /9.
5 1.925 1.9375 1.93125 root = a+\b—ajj=
6 193125 1.9375 1.934375

Blgg©M30200
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m® LsxggbMOmM3zs60 doligdzool dgmmeo
(960Bg I9¢0 IMBom©bgero gqligo)

1. Hunting stage

2. Iterative stage

2399330 O35 0859by“
1. Boo®H™dol doyo:

89356MBomm doX 0, HMIGo5 350339790 BmbsBM9dgd0Eb MM 5393l Jcol Bsbdoby bs3wados: d
fla+d), fla+2d), f(la+3d), ...
503M3560b6m0 06¢)9M35¢0gd0 Lo 08YMz39Id0b Bgliggdo:
fla+kd)fla+ (E+1)d) <0

©53005bLMzMg0 Bq3gdoL Smbogogdo: K.

2. bE9bsOEMEo dolgdEEoL 390MEO ymzgw Bglgmsb sSbeEMU;
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doL9gd300L 3gmMmEOL M30lxdgxd0

+ 49M5630MG00o 3OJOSEMdS oG EH03 BgL3DY;
+ 36090500Md0L dMboermbaro ¢9d3o;
+ §obsbfo® goblsBE3MMo LOBMUBEOL sOLYGOIMD;

- 395635 MdS 30 gdbBY;

- 965000 b61egd0 (3563mbomemo g3mbdi309, 30e0b®Owo BwMbdE0s);
- LYFOMMS 0bE M350l TgdmMY356s (R9TM(36Mds);

- 43010219 bgero 0¢He3oEo dgoneo;
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Q535¢mgds 2.1.
0990092 29690900 33913980 IMMO3LYOIE0s 0bEIM3s¢do (0,1.6). 03m3900 Bguggdo doligdiool dgommeol
499mygbgdom 10 —%6g 8930 LoBbEom.

xcos(x) = In(x) (1)
2x = exp(—xz) (2)
exp(—2z)=1—=x (3)
Q535¢mgds 2.2.
03390 999930 3IbJ300L bryemgdo:
4smz+1—x =0 (1)
l—z—e 2 =0 (2)
(14+z)e" 1 —1=0 (3)
et — 42?4222 —8 =0 (4)
e +at4+z=0 (5)
322 +tg(z) =0 (6)

Q535¢Mmgds 2.3.

d0bYgdi00L dgomEdo 0bGYMH35ol ogmaxzol HoMHEGows© sG0MIgE03Mwo BodMoml 5¢qds Bodwmogdsls
04935 dmbgl  sOLMEBHMMHO  30MI0gdol  obodobgds. 0bBHIMZoOL  Foymaxobsl  AqgmdgE Moo
B3l gs8mygbgdom (ab>0) bogds g3sGMdOmO 3Mowgdol 806080BYds. s0MmRogm 2.1. ©35¢9dOL
6530096039 49b6GHM@gds S 895Mgm 063 JMHZ5¢0l goymaol gl o 3goMo:

E};,;—a;g
2

my = ap + my. = \/ aiby



